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QUESTION 1

You are running a Virtual Chassis with nonstop routing enabled. You want to confirm that the BGP routing table
synchronization has completed on the backup Routing Engine. 

Which command will show you this information? 

A. show task replication 

B. show bgp summary 

C. show bgp neighbor 

D. show bgp replication 

Correct Answer: D 

 

QUESTION 2

Click the Exhibit button. 

Referring to the exhibit, which statement is correct? 

A. The device is the root bridge? 
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B. The spanning tree session has timed out. 

C. The local bridge priority is set to 8k. 

D. The bridge priority on the root device is set to 8k. 

Correct Answer: D 

 

QUESTION 3

Which two statements about RSTP are correct? (Choose two.) 

A. RSTP is backward compatible with STP. 

B. RSTP permits multiple root bridges within a Layer 2 domain. 

C. RSTP permits only a single root bridge within a Layer 2 domain. 

D. RSTP is not backward compatible with STP. 

Correct Answer: AC 

 

QUESTION 4

Which two statements about a unified ISSU are correct? (Choose two.) 

A. It requires that Bidirectional Forwarding Detection be disabled. 

B. It requires that graceful Routing Engine switchover be enabled. 

C. It is only supported on platforms with redundant control planes. 

D. It is only supported on platforms with redundant power supplies. 

Correct Answer: BC 

 

QUESTION 5

You have an OSPF NSSA area that is also receiving IS-IS routes on the ASBR. 

In this scenario, which LSA type is used to announce external IS-IS routes? 

A. Type 7 

B. Type 8 

C. Type 1 

D. Type 4 

Correct Answer: A 
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